Varying Focus

Daniel is taking a Computacional Vision course and decided to reproduce an interesting work
that he saw at class: he took some photos of a same scene, varying just the focus, for later to
combine them in just one photo, in which all the objects in scene are clear together. For that, he
needs that each object seem clearly in at least one photo.

Daniel knows that for each object, there is a closed interval of focus plans in which that object
stays clearly visible. For example, in the picture below, (i), (i) and (iii) are tree photos of the same
scene, each one taken with a different focus; (iv) is the combined image generated by Daniel.
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As the memory card of Daniel's camera has a small capacity, he asked for your help. Given the
intervals of focus of all the objects in the scene that he pretends to photograph, determine the
minimum number of photos that he should take so that each object stays clear in at least one of
the pictures.

Input

The input consists in several case tests. The first line of each test case contains one integer N (1
<N <106 ) that indicates the number of objects in the scene. Each one of the N next lines
contains two integers, A and B (1 < A < B <109), that indicates the extremes of the focus interval
of each object.

Output

For each test case, you should print one line with a integer that indicates the minimum number of
photos that Daniel have to take.

Example 1

Input:
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56
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